
(Pr.No.2615)

展開 展開の工夫 練習問題１

Ⅰ次の式を展開しなさい。

① （３ x－２)(３ x－３）

② （５ x－６)(５ x－７）

③ （xy＋９)(xy＋３）

④ （－ x＋８)(－ x－５）

⑤ （３ a－３)(３ a＋４）

⑥ （７ a－５)(７ a－５）

⑦ （５ x＋７)(５ x－７）

⑧ （３m－２)(３m＋１０）

⑨ （２ x＋７)(２ x－４）

⑩ （４m－２)(４m＋３）

Ⅱ．次の式を展開しなさい。

① （２ x＋３)２

② （３ x－１)２

③ （４ x－２)２

④ （２m－３)２

⑤ （３ y－２)２

⑥ （６ y＋１)２

⑦ （７ a＋２)２

⑧ （２ x－４)２

⑨ （５ x－４)２

⑩ （２ x＋７)２

(Pr.No.2615＋α)

展開 展開の工夫 練習問題２

Ⅰ次の式を展開しなさい。

① （x－３ y)(x＋２ y）

② （x－６ y)(x－７ y）

③ （y＋９ x)(y＋３ x）

④ （x＋８ y)(x－５ y）

⑤ （a－３ b)(a＋４ b）

Ⅱ．次の式を展開しなさい。

① （x＋２ y)２

② （y－ b)２

③ （y＋５ c)２

④ （a＋３ b)２

⑤ １ ２

y＋ x
４



(Pr.No.2615＋β)

展開 展開の工夫 練習問題３

Ⅰ次の式を展開しなさい。

① （２ x－３ y)(２ x＋２ y）

② （３ x－６ y)(３ x－７ y）

③ （２ y＋ x)(２ y＋３ x）

④ （４ x＋８ y)(４ x－５ y）

⑤ （３ a－ b)(３ a＋４ b）

Ⅱ．次の式を展開しなさい。

① （３ x＋２ y)２

② （５ x＋３ a)２

③ （６ x－３ n)２

④ （４m－ n)２

⑤ （２ y－４ x)２


